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Due credil will be given to neatncss and adequatc diruqEions.
Assume suilable data whercver nccessary.

Illushate your answer whcrever oecessary with rhe hclp of neat skclches
Use pen of Bluey'Black in}/refill only for writing the arNwcr book.

I (A) Explain thc role of compilcr m Computcr pcrformancc. 1

(B) Dcscribe thc structure of a rcccnt compiler, 7

OR

(A) Explain thc following :-
(a) Amdahl's l-aw.

(b) I-ocality of Rcfcrencc. {i

(R) How is flow control charge distinguished ? Specify any two major mcthods

for evaluating branch condirion. How are conditions tested I 6

(n) What is supcr pipelining ? lixplain thc pipclirc sllucture and performancc of
thc Ml'S 400 processor family. . 7

(13) Exptain how branches a{fcct pipelining performance. 6

OR

(A) Givc fte limitations o[ delaycd b,ranch scheduling and cxplain how thcy arisc.
't

(B) Explain how DLX pipcline can bc extendcd !o handlc floating point operations.
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5 (A) Consider thc loop :

for (i=l; i<= 100; i=i+l)
{

A Ii] =Alil+Blil;/*Sl*/. Bli+ ll =clil+Dlil;/*s2*/
)

What are the depcndences b€tween Sl and 52 ? Is rhis loop parallel ? lf
not. show how to make it parallel ? 6

(B) Explain what is Data dcpendcncies in ILp. 1

6. What is Dynamic schcduling ? Explain it in bricf with a scorcLrrard. l3

(A) Diffcrentiate bcrwccn :-
(i) Cache and yirtual memory.

(ii) Static and Dynamic l{AM.

(B) Explain the conccpt of segmented vinual mcmory

OR

8. Exptain various Cache Miss Pcnalty reduction teclmiques.

(A) What are the differcnt RAID hvcls and how do thcy solvc thc problcms duc
t(' disk failures 2 7

(B) Suppose a processor scnds t0 disk I/O's per second, these rcquests arc
cx|()nentially disuibuted and the average disk service time is 20 ms. What
is thc disk utilization ? Calculate the average time spent in thc qucue and
the avcrage response time for a disk rcquest, including thc qucuing timc and
disk servicc time. 6

10. How is thc performancc of VO measured 'l lixptain Liltle's l_aw

OR
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Il. (A) Diflarenriatc betwccn :-
(i) Connection orientcd communication and connectionless communication.

(ii) Packer switching and circuit swirching. g

(ll) What is a protocol suitc ? Explain TCPII, an inremetworking standard. 5

OR

t2. (A) Diflcrcntiate bctwccn Massivety parallel proccssor Network and l,ocal Arca
Network. 5

(B) Explain therorganiration, l-ayers, packet formar of ATM nctwork. g
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